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1. friferfea # & Pw-w, veelt o v et

& T % AT SR Yeeh g g et
% M % ATHA BT FR 27

(@ 2400
(b) 2640
(c) 2880

(@) 2000

2. H5 =ARF Fd @FE ¥ K IR wlea 2
e fog gFmer 3 3ifda ge1 w 10% H
P A 3| T AR IqH YA f-aree F
qem 8 w=al g, el 10% ) T -amd
(%0 %) faerh ¥ FeafeRea & ¥ #9-@,
et e (feede) =1 wm 27

(@ 20%
(b) 18%
€ 19%

(d) 21%

3. die & &t forelt 3 el e Y e A

TE e o1 et § R o 1: 2 % g
?1 918 78 1 F T 1 4l e ¥ ST @
AT 41 27

(@) 13
bl 18
{c) 29

(d 1:9
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(@ 10%
(b) 10-5%
© 11%

(d) 12%
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3 H2 dregar B, @ SHh! wHy 3idq 9rer w1 27

(a) 12 km/hr
(b) 12:33 km/hr
(¢) 10-33 km/hr

(d) 13 km/hr
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1. Which one of the following is the

difference of the sum of cubes of first
ten natural numbers and the sum of
squares of first ten natural numbers?

4. Suppose a bank gives an interest of

10% per annum compounded annually
for a fixed deposit for a period of two
years. What should be the simple

interest rate per annum if the maturity

(a) 2400 amount after two years is to remain
the same?
(b) 2640 ‘
; (@) 10%
(c) 2880
(b) 10:5%
(d) 2000
(c) 11%
2. A person buys an item from a shop for d 12%

which the shopkeeper offers a discount
of 10% on the marked price. The person
pays using an e-wallet which gives 10%
cash back. Which one of the following
is the value of effective discount?

5. A runner’s average speed reduces by
25% every hour. If he runs 16 km in
the first hour and he runs for 3 hours,
then what is his overall average speed?

(@ 20%

(b) 18% (@ 12 km/hr
© 19% (b) 12:33 km/hr
d 21% (¢ 10-33 km/hr

(d) 13 km/hr

3. A solid spherical ball made of iron is
melted and two new balls are made
whose diameters are in the ratio of 1: 2.
The ratio of the volume of the smaller
new ball to the original ball is (a) elongated area of low pressure and

of high pressure respectively

6. Trough and ridge are

(@ 1:3

(b) elongated areas of low pressure
) 1:5

(c) elongated areas of high pressure
(c) 2:9
@ 1:9 (d) elongated area of high pressure and

of low pressure respectively
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(b) &I
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(d) sAE

12. Frefafgd # @ F9-w @A wam: TS

R e § sgERe 3 W wd Fefa

T -7

(@) fFRITge 3R HAfA
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(d) fFasiem iR wifeE



7. The boundary layer of the forest at 10. Which one of the following protocols

which the energy exchange occurs is not an application layer of the
and some insolation is returned directly TCP/IP model? '
to space is
(a) FTP
(a) forest floor
(bp) HTTP
(b) forest soil
(c) DNS
(c) forest canopy (@ 1P

(d) forest litter

11. Which one of the following is a semi-
conductor device that is used to
increase the power of the incoming
signals by preserving the shape of the

~ original signal?

8. The organisms that prefer high salt
concentration habitats refer to as

(a) alkaliphiles (a) Register

(b) calcifuges (b) Transistor
(c) halophiles (c) Flip-flop
(d) Diode

(d) nitrophiles

12. Which of the following combinations
9. Which one of the following is not an correctly represents the  genetic

operaﬁpg system? materials in prokaryotes and
eukaryotes respectively?

(a) MS-Windows
(a) Nucleoid and Chromatin

b) Li

&y - bk (b) Chromatin and Nucleoid
(¢) Ubuntu (c) Nucleoid and Nucleolus
(d) MS-Excel (d) Nucleolus and Chromatin
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13. Lysosomes are sacs of the cell filled
with digestive enzymes. These digestive
enzymes are synthesized by

(a) Golgi bodies
(b) smooth endoplasmic reticulum
(c) rough endoplasmic reticulum

(d) lysosome itself

14. Which of the following best represents
the cells of a meristem of plant?

(a) Dense cytoplasm, thin cell wall,
large nuclei and absence of
vacuoles

(b) Dense cytoplasm, thin cell wall,
large nuclei and large vacuoles

(c) Dense cytoplasm, thin cell wall,
small nuclei and absence of
vacuoles

(d) Dense cytoplasm, thick cell wall,
small nuclei and large vacuoles

15. Which one of the following animals has
a four-chambered heart?

(a) King cobra
(b) Turtle
(¢) Chameleon

(d) Crocodile
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16. One way of incorporating desired

characters into crop varieties is
hybridization. In this process, there is
crossing between genetically dissimilar
plants. Which one of the following
crossings will not refer to hybridization?
(a) Intervarietal

(b) Interspecific

(c) Intergenic

(d) Intragenic

17. Depending on the requirements,

plant nutrients are classified as
micronutrients and macronutrients.
Which one of the following is an
example of a macronutrient?

(a) Manganese

(b) Copper

(c) Magnesium

(d) Chlorine

18. Buds produced in the notches along the

leaf margin of Bryophyllum fall on soil
and develop into new plants. This is
an example of which one of the following
types of reproduction?

(a) Vegetative propagation

(b) Budding

(c) Spore formation

(d) Regeneration
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19. 9YaTE (FElIUH) Fash geda: fFes ohaed &

22. f=fafaa d @ e 9ad =1 W@ w59 o=

e seerf £7 TR % fore & fran < gt
g (a) VgHEE
(b) i
(b) TS (c) o™ (FHmR)
() afs (T
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(@) TRETo
20. 3 FEGAl x AR y F FHAA GEH B G GF (b) T
W:u@SuﬁWﬁﬁW%lm
st el ke, 3R ke, TR R Hafa €7 (c) A
(d) Wl
(@ ky=k,
(b) 2. =k 24. T S * 9T Sl A giafda w0 F
Rl W TRy S 9 a9 (far|) @ @
(c)  9ks =k, T 7
(@) AR
d) 3k, =k
4 4 (b) e
(c) W&
21. fefifeas § & H-w, @ = T (ghe) (d) S (SRX)
T 7
25. Tordl stad o 1 BrRE gd F 9RE 2 m
(a) UTEHA (Pa) B A= N erHan @ g
() N/m? (@) +0-5 TEHATH
(b) -0-5 TFIATH
(c) J/m? 4
; (c) +2-0 SIEIATR
(d) ¥R (d) -1-0 SEIHATX
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19. Phloem tissues are mostly responsible 22. Which one of the following materials
for transport of cannot be used to make a convex lens?

(a) Aluminium

(a) water
(b) Glass
(b) oxy.gen (c) Sapphire
(c) minerals (d) Water
(d) food 23. The optical phenomenon responsible for

the blue colour of sky is

(a) dispersion
20. Two objects, x and y, have equal mass
and are moving with speeds u and 3u
respectively. Their kinetic energies (c) refraction

kyx and k, are related as

(b) reflection

(d) scattering

(@ kx=k,y
24. The electrical device used for converting
(b) 2k, =k, mechanical energy into electrical energy
is called
(c) gkx =ky (a) voltmeter
b) ammeter
(d) 3ky=ky )

(c) motor

(d) generator
21. Which one of the following is not the

unit of pressure?
25. The magnitude of focal Ilength of

a concave lens is 2 m. What is the power

(@) pascal (Pa) of the lens?
B N /m2 (a) +0-5 dioptre
(b) -0-5 dioptre
() J/m? .
(c) +2.0 dioptre
(d) bar (d) -1-0 dioptre
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26. Y 99 & IRA fogg afwy § g 29. v& @M # \rel femn s &, @ fefafaa #
A fFEs FRO S T R gerEw qur wsh

(@) YA S 2 EEGIR
(b) T A R () T 1 GifeAH wam
(c) oA ug I # (b) NaHCO,
' (c) CO
(d) oS @ T2 ST g K 2
(d) H,0

27. I fFf fmm awg =+ Was @ @ T
qiafda & sy, @ seh TR I R 30. fian 3ik &3 % i hwa g 35 99§ R, fan

 Teani? 3R BR 92 N 3fwa Iy 32 af ® au I
92 # 3fma emg 17 9 R far ok I
@ 2 3T W2 H 3fa 31g F At
b 4 (@ 30 a4
Bl (b) 27 T
{5
(c) 28 a8
(@) 8 :
(d) 29 a4

28. ffafaa & A F-w faEe, a ok

AR a1 % Ty e w7 31. F15 T I TH-Togd @ 124 A=+ 2| 9=
& 27

(@) TR sAfawme
(@ 194

() : (b) 180

(c) WM iR (©) 189

(d) . TeRrEm TR (d) 186
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26. At the time of short circuit, the current
in an electric circuit

(a) becomes zero

(b) remains same

(c) increases sharply

(d) decreases sharply

27. If the linear momentum of a moving
object changes by two times, then its
kinetic energy will change by a factor of

(@ 2

(b) 4

€ 6

(d) 8

28. Which one of the following oxides
reacts with both acid and base?

(a) Aluminium oxide

(b) Calcium oxide

(c) Sodium oxide

(d) Potassium oxide

JDFG-U-PFT/48A 11

29. Which of the following makes bread
soft and spongy when baking soda is
added?

(a) Sodium salt of acid
(b) NaHCO4
(c) CO,

(d) H,0

30. The average age of father and elder son
is 35 years, the average age of father
and younger son is 32 years and the
average age of the two sons is 17 years.
What is the average age of the father
and his two sons?

(a) 30 years
(b) 27 years
(c) 28 years

(d) 29 years

31. A number is 124 more than its one-third.
What is that number?

(@ 194
(b) 180
(c) 189
(d) 186
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32. # #1341 g0l 60 km/hr Ft 7fa ¥ iR TR 35. germ (ARew) fred tan e smar &7
%T:ﬁ{ﬁ v km/hr # 7fd ¥ 97 *dt B) IR
gt aEn it 3f|a fd 50 km/hr 8, @ v H

it (a) Hfcamm FHEAE
(@) 40 (b) TR wEhe
o (c) TRREm FERe
() 100/3

(d 35 (@

33. 7H &Sl A 3 B Ty fredt & <
10 R B g0 a wR ) AR B o vy OO o R s 7

wd H 15 e g0 gwar R, d@ A el

38 %@ ) Rl § o e 27 (@) T (FHL)
(a) 20 f (b) wr (f5i)
(b) 24 @

(c) T (FTR)
(c) 25T
(@ 30Fm Gl

34. IR gEER FW § ufe FEnst § ¥ weh =R
et 1 shd 25 % @i siftm = TEmed 37. 4 @l (s Tee) o fierg 27

1 3fga 20 B, @ ugel IR sifew e &

i #1 3FR F1 AM? (@) @, fre iR Yefeam

@.» (b) @, e 3 Tt
(b) 10

Bl (c) T, Trgefm iR w@fem
(d) 20 (d) @i, defifirm 3R Yeifeam
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32. A car travels %th of the distance at 35. Borax is prepared from

a speed of 60 km/hr and the remaining

1 .
Zth of the distance at a speed of (a) calcium carbonate

v km/hr. If the average speed for the
full journey is 50 km/hr, then the value

of v is (b) magnesium carbonate
(@ 40 :

(c) potassium carbonate
(b) 30
(c) 100/3 (d) sodium carbonate
(d) 35

36. Cinnabar is an ore of
33. Suppose A and B can complete a work

together in 10 days. If B alone can

complcté the work in 15 days, then (a) mercury
in how many days can A alone finish
the work?

(b) zinc
(a) 20 days
(b) 24 days (c) copper
(c) 25 days

(d) lead
(d) 30 days

34. If the average of the first four of five
numbers in decreasing order is 25 and
the average of the last four numbers
is 20, then what is the difference
between the first and the last number?

37. White gold is an alloy of

(a) gold, nickel and palladium

(@) S (b) gold, cobalt and palladium
(b) 10
(c) gold, titanium and platinum
{c) 15
(d) 20 (d) gold, magnesium and palladium
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38. Ve w1 EESSHE freh Jufdfy & fen 42. TH-TR A 10 km T AR A fF @ A

ST HehaT 77 3R ®A: 10 km/hr 3R 14 km/hr &
. Tfd & ST IRY Fd & | fhaw T99 & 9% 9
A e e
(b) S (f5R)
o (@ 20 fime
@ T (b) 25 fime
(c) 28 fime
39. *fcaam sAfease 9@ & @ fifwan = g0
I (Wiee aRA) 399 Hal ¢l I8 foruen (@) 80 v
Qe &7
(@) HAA e 43. U e 3 91 3Tl w21 S 2 A (')
?
- o 3 < wfeRan o1 R
() sl s @ 5
(d) IS AfSifsRan :
-
40. TEeISA Ty i gy Bren fRat 77
(@) 37 AR (©) %
(b) 37 T
(c) 17m (d) g
(d) 57 fumnfie

41. 5 @ W T W v, A uh <ufd 44. Frd when 25 wgReedt W 1 TS W@

(ufe-ueht) wiftre 1 AR wfa-ueh B TE-gw IW % Y +4 % R 3R @ IR F foe
¥ STA-T NS S B, A 39 5 @l -1 3% B 3R swr=meff 74 3% WW =l B,
5 i arelt T ufth § fohaa afist @ e A 384 Foraq w1 % I e feuw?
S Hehell 87
(@) 4
(@ 24
(b) 48 i
(c) 60 gl o=
(d 120 (d) 9
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38. Hydrogenation of alkenes can be carried 42. Two friends 10 km apart start running

out in the presence of towards each other at speeds of
10 km/hr and 14 km/hr respectively.
(a) copper After how much time will they meet
h
) aing each other?
(¢) aluminium (@) 20 minutes

(d) nickel (b) 25 minutes

(c) 28 minutes

39. Calcium oxide reacts with water to

2 : (d) 30 minutes
produce slaked lime. It is an example of

(a) combination reaction b { r
43. A coin is tossed 3 times. The probability

(b) decomposition reaction of getting exactly 2 heads is
(c) oxidation reaction (a) 1
3
(d) addition reaction
3
(b) 3
40. The atomic radius of hydrogen atom is
(a) 37 nanometer (©) %
(b) 37 'picometer
(c) 17 picometer (d) S
: 8
(d) 57 picometer
41. There is a group of 5 people among which 44, A test consists of 25 MCQs. Each correct
there is one couple. In how many ways answer gives +4 marks and incorrect
can these 5 people be seated in a row answer gives —1 mark. If a candidate
having 5 chairs if the couple is to be scores 74 marks, then how many
seated next to each other? questions were left unattempted?
(@) 24 (@ 4
(b) 48 (b) 3
(c) 60 : (c) S
(d) 120 (@ o9
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45. Tordt =afeh % 9g €2 3R 5 F Fo 100 R

%1 of foml 1 o @ €320 %, M2 F
ot & dwm el 27

(@) 40
(b) S50
(c) 60

(d) 70.

46. Ffi-wft ‘ToR@-gehfm a@E I YR

(eRmRs o v Reew)’ % 9@ @ 3.
TrRNFER i == frass desf § A =i 27

(@) QaH-H& (") ¥ FERE el =
BEIEE]

(b) FEUrdl ¥ ATFIA H I$A WA (AfT)
(c) g ufwranfera wglemt =1 Frdsred
(d) GA:IEAST kel 1 faspr

47. Frafafgd s w fmw fifsg

1. ke oA & forw 99 o9 & &9 §
Yggfafem ot 1 3w foman s #

2. A dua AR Wz 5 A gom F, A
399 A Tohe §o1 § S F fa mmn
7§ @ I9A Juitg ek Bran R

I HUA A ¥ FH-A1 /A A R/
(@) Fad 1

(b) FaA 2

(¢) 132

(d Fd@1ARAE2
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48. Tr=fafaa famsel ® e Hifve

Af-1
R
REA

IR § | HE-T1/FA-V F7 ramea /e
B/87

(@ 132
(b) Fa 2
(c) 133
(d) +a 3

il

49. v H gan & wel #, frafefaa dferpiet

R fomm hifs .
1.
2. a®

3. ¥%

I A A fred /i Qe W, e Reew
3R =1y -a7g Pt B/%7

(@ 132
(b) S 2
(c) 133
(d) Fad 3

50. ¥ @ #, wrd 4 Frafafea & & a2 =

T TSR orredt €7
(@) ST

(b) WIERIE

(c) e

(d) HIH 3 IR



45. A person has a total of 100 coins

consisting of 2 and ¥5 coins. If the
total value of the coins is ¥ 320, then
the number of 2 coins is

(@ 40
(b) 50
© 60
(@ 70

46. The technology known as ‘Electro-

magnetic Air Lift System’ is sometimes
talked about in reference to

(a) launching guided missiles from
silos

(b) launching aircraft from warships

(c) navigation of nuclear-powered
submarines

(d) development of reusable rockets

4'7. Consider the following statements :

1. Aluminium powder is used as
a solid fuel for rocket engines.

2. Compared to liquid fuel propelled
rocket engines, the thrust per
amount of fuel burned is higher
in solid fuel propelled rocket
engines.

Which of the statements given above
is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

JDFG-U-PFT/48A 17

48. Consider the following missiles :

1. Agni-I
2. BrahMos
3. Dhanush

Which of the above is/are cruise
missile/missiles?

(@) 1.and 2
(b) 2 only
(c) 1and 3
(d) 3 only

With reference to India’s defence,
consider the following helicopters :

1. Cheetah
2, Chetak
3. Rudra

Which of the above has/have turret
gun, rocket system and air-to-air
missile?

(@ 1 and 2
(b) 2 only
(c) 1 and 3
(d) 3 only

50. Recently, India gave a coastal radar

system to which one of the following
countries?

(a) Bangladesh

(b) Maldives

(c) Sri Lanka

(d) United Arab Emirates
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51. T fafeen 3 Prafefaa # @ fra warsfa A
T R e A vEeh 7eH Hi w9
H?

(a) FEHENY SR Fa HRGATATr
(b) T U FHl Fa a7 AN gwmr

(c) AN TR Fa w4 e diar
(it 37 $fefadt 57 wa)

(d) eaTd |8 Fa gl

52. fra® T ‘ST Fey’ unw ok wmifad
e Tr?
() VT SREET
(b) WA U8
(c) S A8
(d) T T

53. SHSdIE Heam & Gey §, fefafea & @
DH-A1 HUF G TG 87

(a) =A% SHSTdE fepr wEEHE w1 RW
A foepme foramerem, som-gw o (¥
BI3H) H GUR 3R Ui Gw=A1 6
g afe R)

Hgfa sAefa MR 3 WwEE &
framft srfefiam % omew, ot # fom
Tt < AR R R S #)

(c) Toorm &= fara wEdwn &1 @ a9 a9
IMTE B FAAE H HAH €9 Y fao
FAT R

SHSIAE 39-aem1 & foe fodie =g
HEEd & Aqid e @ ¥ 9w
A TG TR % forg 3 T wew
i St B

(b)

(d)
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54, FafaRaa § 4 FR-w o w8 78 27

(@ ‘@O SEd TR ISR A wE wEd
W-USR FEAFH B

(b) @ uvifad &9 wEFEH IR Teew
TfaeE wE%H 1970 % 9 & yRY fu
M A

() ‘ThiFa urho fFw FEE A
GAHEA A F @) gl afn s
AT 2001 H YRY 6 TE oft|

(d) wi SEd 1w |-USR A T
Trfior -TSITR FRis § |

55. U&H-ATS ¢ H WHWG: TR am A S
T 87

(a) e F1 g%
(b) Gl H GE
(c) UG F g4

(d) Hd H T

56. JHNHAHE § 313+ F Rremea! =t f=fafaa
T ¥ forg faft 3 foran w27

(@) wTEh
(b) Y&
(c) TUE
(d) Teh-SRTHTEH



51. Which one of the following artworks
was hailed by Sister Nivedita as the
. first masterpiece of Indian art’?

(a) Bharatmata by Abanindranath
Tagore

(b) Arjuna and Subhadra by Raja Ravi
Varma

(c) Sita in Captivity in Lanka by
Abanindranath Tagore

(d) Sati by Nandalal Bose

52. ‘Operation Sankalp’ was initiated and
implemented by the

(a) Indian Air Force

(b) Indian Army

(c) Indian Navy

(d) Ministry of Home Affairs

53. Which one of the following statements is
not true with regard to tribal welfare?

(a) The Comprehensive Tribal
Development Programme aims
at land development activities,
improvement of roof houses,
infrastructure development and
SO0 on.

(b) As per the Scheduled Tribes and
Other Traditional Forest Dwellers
Act, villages in forests are provided
with community rights.

(c) The Special Area Development
Programme aims at distribution of
forest area produces to the tribals
equitably.

(d) The Special Central Assistance to
Tribal Subplan provides dairy cows
to tribal groups living below the
poverty line.
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54. Which one of the following statements
is not correct?

(@)

(b)

(c)

(@)

55. The

The ‘Swarna Jayanti Shahari
Rozgar Yojana’ is an urban
self-employment programme.

Drought-Prone Area Programme
and Desert Development

Programme were launched in
1970s.

The ‘Sampoorna Grameen Rozgar
Yojana’ was launched after
restructuring the ‘Integrated Rural
Development Programme’ in 2001.

The ‘Swarna Jayanti Gram

Swarozgar Yojana’ is a rural self-
employment programme.

Battle of Rakshasi-Tangadi is

popularly known as the

(@)
(b)
(c)
(@)

Battle of Talikota
Battle of Khanwa
Battle of Panipat

Battle of Dharmat

56. Ashokan inscriptions in Afghanistan are
written in which one of the following
scripts?

(@)
(b)
(c)
(d)

Brahmi
Sharada
Kharoshthi

Greek-Aramaic

[ P.T.O.



57. W™ IuHETE # $@1-gd 200 @ 300 $aeft F 59. Wrd % foan &3 A when ¥ e wra @R

"M 2T T R F oaR A Feffee § SN 1B 3 ) Frghe = 6 18 oft?
FI-HT HYT & TE 27
. (a) 1967
(@ fe=-7adt (F0-1f%) 3 3 fw w
foomdt ofr R-fafy dopensit 6 ypem (b) 1966
Rl ¢ 1965
(b) Fi 3 9 wem § T e F AR F @ 1964
Tt iR afe & Rt ) gars 4
c) WharEHl A =i, dfe, ®R () &k
i oA % R s ) i 60. Fr=fafaa # & F-w v 7d 27
(@ Fmm R w1 sfyewm @, =mr (@) TEF TMW, T GREIHY 97 2
;ﬁ:mmaﬂzqﬁumﬁ b " g 0 S
TR 91 B
58. @-Iﬁ'qﬁ-ll%mwgﬁ%ﬁﬁﬁqaﬂx (c) SRR 9, ¥a FEEFHE ur &)
gﬁ.%ﬁmmﬁmmmmm o N bl iR 4
-1 Ht-11 61. AHRE % aR § f=fafad § § #9-3 Fom
(7% =1 afew wm) (g =) a8 ¥
A. guEd 1. ¥ 1. U@ AEfeE, S 8El # 98 SR s
B. enfesh 2. e gz"ﬁﬂfﬁq“ﬂi%ﬂ (e A9)
C. form 8. w 2. WRRE F I o d6d )
D. yesf} 4, Jom % fore foman sman &)
: 3. WM TF WH ¥ T WH | 90 F
b 5 S o YR S
@) X Lo oD
> SETE SO R T 2T T g @ W o W g
@) A B Ce D (@ ¥a 233
INE A
o A 5B 0%ED () HaE 1 3R 3
. § (c) Faa 1 3R 2
eI i R e
3 4 1 2 (d 1, 23R3
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57. Which one of the following statements
about coins struck during 200 BCE to
300 CE in the Indian subcontinent is
not correct?

(a)

(b)

(c)

(@)

The Indo-Greeks introduced
bilingual and biscript legends on
their coins.

The Kushanas minted large
quantities of gold coins as well as
copper coins of low denomination.

The Satavahanas issued coins of
silver, copper, lead and potin.

Absence of Negama coins suggests
the declining power and authority
of merchant guilds.

58. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-IT
(Vedic name (Modern name)
of river)
A. Drishadvati 1. Chenab
B. Askini 2. Chautang
C. Vitasta 3. Ravi
D. Purushni 4. Jhelum
Code :
(@) A B C D
2 4 1 3
(b) A B c D
2 1 4 3
(c) A B 6 D
3 1 4 2
(d A B (& D
3.4 1 2
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59. When was the Kothari

Commission

appointed by the Government of India
to look into the education sector of
India?

(@)
(b)
()
(d)

60. Which one of the following

1967
1966
1965
1964

is not

correct?

(@)

(b)

(c)

(@)

The Gulf Stream is a warm ocean
current.

The North Atlantic Drift is a warm
ocean current.

The Labrador Current is a cold
ocean current.

The California Current is a warm
ocean current.

61. Which of the following statements about
maps are correct?

1

Maps that maintain the true
shapes of areas are known as
conformal maps.

Maps are used to show spatial
relationships.

Maps cannot show route from one
place to another.

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@)

2 and 3 only
1 and 3 only
1 and 2 only
1, 2 and 3

[ P.T.O.



62. Teg 99 (W2 The1)' % an # F=fefas # @

HF-1 HUF G878 27
(@) T geg 99, Y B g gl §

wiear B
(b) VT FEQ T4, e hi aRfy &

(c) TEQ I, -8 W eI & = <elan
IrET-Arl ! fafga =@ 8

(d) €3 99 98 geH g9 8, "R @) Rulfa
Tagelt % Mem | geeh & = 9K 3ifha
o 11 wepar B

63. AN HFfa-R (AHd o\ W) F g 1,

Freafafga § @ S9-1 w97 gd@ 27

(a) 99HH ¥ TF W I=H Bl §
39S WG % WIY-HIY gl g1

(b) TR fF ad W Freem g @ oaw
391 TG F WY-T1Y 9eadl 21

(c) AUHM JI1E ded F WY-giy fRR =
@l gl

(d) TUHH S1E Sgq & IY-91Y g §edl
? 3R AN e Y & T R

64. Fafaflaa § & FF-H, Tegd @ ) weEs

T 37

(@) TR
(b) W&
(c) el

(d) w8
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65. IFA AWEY H o o

areEr S AW
fagr 79 1 Ve wwen, TsAE A
Freferfaa wfwet & & fored weifea 27

(@) LA I G-I HET
(b) Wg@ﬁsﬁﬁﬁgﬁm
(c) & 37 T

(d) Taurrsi $ wiEfemt ok o H @ifta
FAT

66. ‘ATRYA Tore’ = ga: iR frg wm ¥ sff

S ST @7
(a) wRa sifd
(b) & ifd
(c) s swifa
(@) W (delt) wifa

67. ‘We-3m 3fem whm’ Frefofea 3§ @ e R A

Hafta 87
(@) m%wm@m

(b) o & % gar, R @ pew
FIPTR] ! FHAThR! AFFH TEH T

(c) wfeensdl, srggfua sifa ok ergghm
S @gErEt % e Sgmsfiea @
T 3

(d) 18-50 a9 & W o1 F @Mt % fw
<o gean



62. Which one of the following statements
about ‘great circle’ is not correct?

(a) Every great circle divides the Earth
into equal halves.

(b) Every great circle is a
circumference of the Earth.

(c) Great circles mark the longest
travel routes between locations on
the Earth’s surface.

(d) Great circle is the largest circle
that can be drawn around the
Earth through two particular
points.

63. Which one of the following statements
is correct with reference to normal
lapse rate?

(a) Temperature is highest at ground
level and decreases with increasing
altitude.

(b) Temperature is lowest at ground
level and increases with increasing
altitude.

(c) Temperature remains stable with
increasing altitude.

(d) Temperature first increases with
increasing altitude and gradually
starts decreasing.

64. Which one of the following is a tributary
of the Brahmaputra River?

(a) Ghaggar
(b) Mahi
(c) Kosi

(d) Manas
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65. The landmark case of D. C. Wadhwa vs.
State of Bihar in the Supreme Court is
related to which one of the following
powers of the Governor?

(@)
(b)
(c)
(d)

To repromulgate ordinances
To appoint a Chief Minister
To grant pardon, etc.

To revise the emoluments and
allowances of the MLAs

66. ‘Operation Flood’ is also popularly known

as
(@)
(b)
(c)

(d)

the Green Revolution

the White Revolution

the Blue Revolution

the Yellow Revolution

67. The ‘Stand-Up India Scheme’ is related
to which one of the following issues?

(@)
(b)

(c)

(d)

Social security during old age

Providing technical knowhow to
young, educated or skilled workers
from rural areas

Promoting entrepreneurship
amongst women, SC and ST
communities

Insurance cover to people in the
age group of 18-50 years

[ P.T.O.



68. F=fafan # @ F-H e Goare i fsiwan 70. ‘@mv}zm’wﬁﬁq%aﬁﬁﬁmﬁﬁgﬁ
& 27 FoAl # A FA-A1/A-A R B/E?

1. 9t 9on 9§ 2014 & # T8 o)

(a) W,ﬁﬁumaﬂtmﬁsﬁﬁmmﬁ 9. WW@WWWW%

1 wftral o1 fd=a (dede) = uwa §) e o=l % e g ¥ SEam
d-alerl 3R gt A dE H vaf
(b) W9 TWEHR IR T WER F o qerE =1 sgran fiet
% g fafafde forg 7o &) :
I T g e F yEm W @ R P
(c) ®Rgm # w9 IR TG A wRe B
fafifée far T 21 Vo) Ry
(b) FHaA 2
(d) ¥THE GoaR Wit & gom % fgia
R 3y B c) 13K 23t

(d) @ 1ARAE 2

69. Fmfiifaa weal w fmr #Hift ;@

1. YRfYe Ao feepen-deft, Rrmsh def 71. F=fafas suE w R fifvw
A vt oft, Safh wifes ge Fsewen

S e e 1. ﬁwzooo,q;i-m;ai:%l
7 o To Teo AvH, 2l- ,
2. W # feme A ¥ g ks et =
g a7eft oi) e 2| :
' ) 3. THd, UF Afaeafis (FRWET) wemE
T e 8 Ao/ A-d T A/ b
I FUE T § PH-A1/FH-2 T 2/37
(@ Faa 1
(@ 132
Fad 2 .
4 (b) Fad 2
(c) 1 3R 23 © 133
(@ @ 1ARAH 2 (d) ¥4 3
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68. Which one of the following is not

a feature of Indian federalism?

(a) Courts can interpret the
Constitution and powers of
different levels of the Government.

() Sources of revenue for the
Union Government and the State
Governments are specified.

(c) Powers of the Union and the States
are specified in the Constitution.

(d) Indian federalism is based on the
principle of Separation of Powers.

69. Consider the following statements :

1. The early Malwa school of paintings
was influenced by Shirazi school
while the early Mughal paintings
initially followed Bihzad school.

2. The major exponents of Bihzad

school in India were Sayyid Ali and
Abdus Samad.

Which of the statements given above
is/are correct?

(@ 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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70.

Which of the

following statements
about ‘Ek Bharat Shreshtha Bharat’
programme is/are correct?

1. It was announced in the year 2014.

2. Its aim is to create an environment
which promotes learning between
the States by sharing best practices
and experiences.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

71. Consider the following statements :

1. Mirage 2000
fighter jet.

is a twin-engine

2. HAL Tejas is
fighter jet.

a delta-winged

3. Rafale is a hypersonic fighter jet.

Which of the statements given above
is/are correct?

(@ 1 and 2

(b) 2 only

(c) 1 and 3

(d) 3 only

[ P.T.O.



72. TefafEn & & frn wid S Y wamse
Ushe ‘Gieam 9" &1 ifirsfeva (fesre) ain
ffifa feran?

(a) = HREH
(b)
(c) AFEE T
(d) Tax

73. TR awagw  ofewfts fien,
‘Kh-47M2 feia’, fimfefaa & & frg 2w
i 77

(@) =
(b) W@
(c) &4
(d) ¥ THo To

74. TRgd IR, FEw Py guER W§
- T % weol A e a2, Reay
T R e 37

(a) 3T TR
(b) wfees IR
(c) T AR
(d) ITSE GER

75. T & A, Frefafaa § @ e 3w F @y wwe
A ‘e i srfierh R W swER R
’?

(a) i

(b) TR

(c) Tfequr sTshrem
(d) TITH I HHRTA
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76. Frfafas & & #-w, wwa ¥ wEd g

F3ra i T 87

(@) F=1 e gferg s

(b) € e T

(c) 38R TTHH

(d) AR TR B Weqz Y

77. T TS F R A Foafafan weEt F @

FH-91/FH-0 T 2/37

1. 9 3ERed 9 & o iR el v
% R § gl anfifere e )

2. Y9 WIREI %1 Y=o weel 9%
difa =1 @)

T e T 2 1 W W s g
(@) Fad 1

(b) Fad 2

(c) 1 3R 2 2H!

(d Td1IMAE 2

78. dlcF@ay ¥ R #, Frafafas wuE § @

H-T1 TEl & 27
(a) TF AH H T G 2|

(b) U UEelt ¥ Neft waredt Suet F = w=h
$ oft)

(c) I= G HIfEeT F1 Teh 37 oft|
(d) I= 9T grr w=h 7 oft



72. Which one of the following aerospace
companies designed and manufactured
‘Falcon 9’, a reusable rocket?

(a) Blue Origin

(b) Boeing

(c) Lockheed Martin
(d) SpaceX

73. ‘The Kh-47M2 Kinzhal’, a nuclear-
capable hypersonic missile, belongs to
which one of the following countries?

(@) China
(b) France
(¢) Russia

(d) USA

74. Mariupol city, frequently mentioned in
news in the context of Russia-Ukraine
conflict, is situated on the coast of

(a) Aral Sea
(b) Baltic Sea
(c) Caspian Sea

(d) Sea of Azov

75. Recently, with which one of the
following countries did India sign the
‘Comprehensive Economic Partnership
Agreement’ ?

(@) Egypt
(b) Israel
(c) South Africa

(d) United Arab Emirates

JDFG-U-PFT/48A

27

76. Which one of the following is the oldest
Central Paramilitary Force in India?

(@)
(b)
()
(@)

The Central Reserve Police Force
The Border Security Force
The Assam Rifles

The Commando Battalion for
Resolute Action

77. Which of the following statements about
‘Agency Houses’ is/are correct?

15

They were important commercial
formations in the late eighteenth
and nineteenth century India.

The operation of managing agencies
remained confined to Calcutta.

Select the correct answer using the
code given below.

(a)
(b)
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

78. Which one of the following statements
about Tolkappiyam is not correct?

(@)
(b)

(c)
(@)

It is a treatise on grammar.

It was composed between first to

fourth century CE.

It was part of the Sangam corpus.

It was composed by Panini.

[ P.T.O.



79. ¥Ra ¥ it vl & WR F, Frafafad wui & 83. yi% a¥ fr=fifad # & fre o = Rw
| HH-71 GE T 27 AR feam (ae€ Jedis ) mamn s 27
(a) Tafew &R 3 Siwon i oft f5 T wRa

10
i wfeem § Wi 2 % R W Gt
e 54w % forg e (b) 13 HE
(b) ¥Ra & I wifreaE § e B @ @ ) owH
@A 91 ' o ol ki o=t
SHAT R T4, dfesh 390 TG F wEH | (d 2wl
BleT T 1)
(c) FFE TEA AR % WEE I @i T 84. W & M @ A Frefafaa § A fw 3w %
(d) FETHR T IHda: SHA-EUR ¥ HIeIq (@ P
¥ wra & it gan)
(b) A
so.wmﬁﬂﬁ-mmmw o it
(@) E¥=Ra (d) HFER
(b) FrEEH
(c) TerEeth 85. Frfafed & & FH-41, <o (239) F wer =
?
(@) e 91 &
(@) TEeh ggIfeat
81. 3 fom 311w sig’ forerrr fomm 27 (b) e st et
(@) Tl et § Ffd :
eranfers
(b) F B HEEE fe) qm%m
(c) THER & Nt g (d) Taw wefeat

(d) <N H HE T
86. F=fiflaa & @ fFm w=a # 50% ¥ stfs a3

82. MR 3w fF=afafad 4 & frg 159 8§ 9 9 FY & rla mida &7
i (a) =G
(a) Td
. (b) >
(b) TG |
(c) TSRIH (c) e
(d) FAlH (d) Tosirm
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79. Which one of the following statements 83. The World Wetland Day is celebrated on

about Princely States’ in India is not which one of the following dates every
correct? year?
(a) The British Government declared (@) 10th June

that States were free to join

either India or Pakistan or remain (b) 13th February

independent. :

(c) 9th March
(b) The decision to join either India

or Pakistan or remain independent (d) 2nd February
was left not to the people of

Princely States but to the Princely
Rulers. 84. Ganga water is being shared at Farakka

with which one of the following

() The Ruler of Travancore first oottt

decided to remain independent.

(d) The State of Travancore finally (@) Nepal
joined India through a plebiscite.

(b) Bhutan
80. Which one of the following books was (c) Bangladesh
authored by Harshavardhana? (d) Myanmar

(a) Harshacharita

(b) Kadambari 85. Which one of the following is a part of

(c) Ratnavali Deccan Plateau?

(d) Gitagovinda (a) Aravalli Hills

81. The King of Dance’ is a description of (b) Karbi Anglong Hills
(@) Trimurti at Elephanta Caves (c) Shivalik Hills
(b) Kaliyamardan of Krishna (d) Vindhyan Hills

(c) Bodhisattva Maitreya at Gandhara

(d) BTOY}ZC Nataraja of the Cholas 86. In which one of the following States,

more than 50% area is under Jhum
82. Anasagar Lake is located in which one cultivation? '
of the following States?

(@) Gujarat (@) Manipur
(] ujara

(b) Uttarakhand (b) Assam
(c) Rejasthan (c) Sikkim
(d) Karnataka s v
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87. fr=fifaa & & frm w9 tudm A g wm

fead (o)’ 27
(@) ¥
(b) <E@
(c) W&EY
(@ i st

88. wd & fafyr #1/% wa Fr=fefas § & #9-w/

HH-¥ B/27

IR 1 "faum

wfaftrat (r)

wies fafy

ot fafy

= fow Te e 1 e A wd 3w g
(@) Faa 1

(b) Faw 1, 2 3R 4

(c) <had 2 3R 3

(d 1,2, 334

e e

89. fi=fefaa & ¥ wm-wi/am-d, wHfvew

wfare™ #1/F w1 2/387

1. HR-FACHT Go<ag gHEE e

¥ %ﬂﬁ%@ﬁﬁ%ﬁm%mmﬁm
AT

o T 2 w1 W W wd 3w g
(@) Fad 1

(b) 9 2

(c) 132 3H

(d ad@13dRad2
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90. wrEise ITFA wfifa F IR #, Frafifaa e

U q B/ T R/E7

1. @fifa & & v A gon § T 9 F
it wae §)

2. dffa ¥ wwfy (Smada) A ffe
W Q1 eI g A S 2

ﬁﬁQWWWmﬁnmmﬁmgﬁm
(@ Faa 1

(b) Fad 2

(c) 1 3R 23H

(d @ 13MmAd2

91. F=fafaa § 4 F-w Fom g 7 27

(@) whafg & o & = & faeg f=
T A1 S T B

(b) “ad FaEE % foeg ifyama wema T
AT S FFeT B

(c) Th whfteg F foeg fme weama 7@ @
S Fehal B

(d) =tE % wg % foeg e weama amn =
a1 B



87. Dhivehi’ is a principal language of which

one of the following Union Territories?
(a) Puducherry

(b) Ladakh

(c) Lakshadweep

(d) Jammu and Kashmir

88. Which of the following is/are source/

sources of Law in India?
1. Constitution of India
2 Statutes

3. Cuétomary Law

4., Case Law

Select the correct answer using the
code given below.

(@) 1 only

(b) 1, 2 and 4 only
(c) 2 and 3 only
d 1,2, 3 and 4

89. Which among the following is/are the

function/functions of the Cabinet
Secretariat?

1. To ensure interministerial coordi-
nation

2. Management of major crisis
situations in the country

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2
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90. Which of the following statements about

the Committee on Public Undertakings
is/are correct?

1. There are more members from the
Rajya Sabha than the Lok Sabha
in the Committee.

2. The Chairperson of the Committee
is appointed by the Speaker of
the Lok Sabha.

Select the correct answer using the
code given below.

(a) 1 only

(b) 2 only

() Both 1 and 2

(d) Neither 1 nor 2

91. Which one of the following statements

is not correct?

(a) A censure motion can be moved
against a single Minister of the
Council of Ministers.

(b) A motion of no-confidence cannot
be moved against the Prime
Minister alone.

(c) A censure motion cannot be
moved against the entire Council
of Ministers.

(d) A censure motion can be moved
against a group of Ministers.

[ P.T.O.



92, ‘sTd AU R wWed uRedd fmm

(To TWo ARo Fo o)’ F 2iavia FreferRaa &
| HH-91, Hge arenl &5 7E 27

(@) W@ gk

(b) <G B FH FA % forq awi-srer Frepre
(c) Wiedisra Wl uftae 3 aman Fmfo
(d) =@ e R e

93. Ve, ‘AW (FF-HRwEw) dwAl H

w41 frferfaa #§ & e desf & Y st 27
(a) Toredl =t w feforee anfemt (Re)

(b) T &S F S dufdal (st
% & (3ATREH)

(c) Sfehn oAl & agues AmHR gen
TEIHAT

(@) ‘@Y Fom SR % mem ¥ oA

94, H:fi-Huft TRt & 3fgfaa v ‘GRRtEg A+’

freforfiaa # & fored weferg 37

(a) TR HREET § femm i <
B

(b) I W Ak wEW-IY T B Th-gw
& Wi ¥R affa 7y w@ ge A R
1% B

(c) € % AP R Ggell IR IrAfyT
Fa (s em) § @ ™ siftEaam

(gueran) fermre

(d) T fomTmer &gEmR, S geeft % wga @i @
Y
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95. WA HFIYR AWEHEE TRET T

(He %o e Ho-g) T W fy m
Tfam feanfee % wed # Prafafas weEt
R far Fifsg :

1. 2 %= 3R Ha1 WRT g Gran gt
H g A 24 H F iR A w9
¥ i =)

2. W (gra) Pt Yead wem, v
W W FH-3-F0 ol 9§ aF gilm
T R SEvEFH Ted R WIREEREl Y
Tepie wega #a|

I H A A DA/ PA-Y " /7

(@) Faa 1

(b) HaA 2

(c) 1 3R 2 3E

(d Ad 1T 2

96. SH-HIR WA § WiE: 99 ¥ oW 919 W

forg fadifea SoeTRica oin waftm wmed” &

Trgra fored Heiftrg 27

(a) S=go TIo 3Mo F Hifde-19 s
ZrepreRur AR

(b) AL g1 Y F AeH
(c) WHRRE 4 Ieasi § wdf) e
(d) g g wifa BEE § G

97. WA Afayr & ey #, guEm ¥ SR-aR

ST TR AT T ‘e o fred waiftra &7
(a) W@mm

(b) R weEm Ho

(c) Al ‘st enifeedl’ aren
(d) &%, 0 fearfern & mn



93. Nowadays,

92. Which one of the following is not

a thrust area of the ‘Atal Mission
for Rejuvenation and Urban Trans-
formation (AMRUT)’ ?

(a) Water supply

(b) Storm water drainage to reduce
flooding

(c) Motorized urban transport and
capacity building

(d) Green spaces and park

‘nonfungible tokens’ are
talked about in the context of

(a) digital assets on a blockchain

(b) operations of ‘banking correspon-
dents’ in rural areas

(c) multifactor authentication security
requirement in banking trans-
actions -

(d) transactions through ‘small finance
banks’

94. The term ‘Sagittarius A*’, sometimes

mentioned in news, refers to

(a) a supermassive black hole in our
Milky Way Galaxy

(b) two giant black holes spiralling
around each other several light-
years away from the Earth

(c) a Supernova explosion seen in
real time for the first time ever
by scientists

(d) a huge asteroid that passed by very
close to the Earth
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96. The

. Consider the following statements with

reference to the latest guidelines issued
by the Indian Computer Emergency
Response Team (CERT-In) :

1. Data centres and service providers
shall compulsorily report cyber
security breaches within 24 hours.

2. Virtual Private Network providers
shall retain user data for at least
five years and share records with
authorities when required.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

principle of ‘common but
differentiated responsibilities and
respective capabilities’, often talked
about in media, refers to

(@) WHO'’s COVID-19
Vaccination Drive

(b) contributions to the International
Monetary Fund

(c) reduction of
emissions

(d) contributions to the United Nations
Peacekeeping Operations

Global

greenhouse gas

97. With reference to Indian economy, the

term ‘bad bank’, frequently mentioned
in news, refers to

(a) an asset reconstruction company
(b) an asset management company -

(c) a bank with huge nonperforming
assets’

(d) a bank that has become insolvent

[ P.T.O.



98. 19 vardt #, wra # F=fefad § & FR-4,

Terreren it fordrwan =&t oft?

(@) F H A Gol TR F g fman s
&1 A1

(b) FER (Rredt), fersr (Fhm) |
Y TEEM I & |

(c) << fepmn it vl w1 formr gam)

(d) ST FHell R AHT Fen F A=
1 fasig =me gam)

99. -l h/wR A (gEAw =

qiferedl) % WM % ®9 H 9K & IW-g Tl
%1 frfefas Toenfal § 4 fran emrl %
SR SFATSY | SieA o1 YEdTa 7

(a) 3TRAA
(b) e
(c) T
(d) R

100. e =it i Frafs Ty # Freffad 3

q H-91 98 27

(@) wﬁﬁgﬁﬁwf‘aﬁmww%g@q
=rmfd g R S R

(b) T Tgfe wafia = =meE % ge

AP ) ger W 9IRd % qge 3w
I Sl B

(c) Ih Tghe wefta o9 % 3= =Een
% WY | TSI R hl S R

(d) ST Frafs e 3= =@ A o
W I AT R A S B
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1o1.mﬁﬁmﬁrﬁammaﬁm

wagHgds frem Hifv
1. vRdE Y9 1878 % aHieger ¥4 W+
oty A # fawa @

2. 1878 & FER W VR H qHWHE
e g o & faftes gew (@ FF )
* WYl & faeg erenfia faman o)

IFE T | PA-T1/FA-Q T /27
(@) Fad 1

(b) HaA 2

(c) 1 3R 2 3H

(d Fd@13RAH 2

102. =9 3R faeriyss gemeli % fafoafaq g # 4

H-81 w8 gAfera 87
(@) 1878 : TEI ATA-ITHTH &
EC CACCRCEIG
FiH 1 gfean foa
WIS o ITEETE o=

(b) 1885 :
{c) - 1785
(d) 1898 :

1os.ﬁq%%aﬁﬁumusﬁm$ﬁq-mw

y-9g (de-viee) ? iR Ih = simige
Him 7t 87

(@) MY TN, BTG, BRI, AREE AN
ey WRW

(b) TEETE, TRATN, FREE, T YW AR
AT

(c) oTg, TREmn, fEaee wew, v wen
3R T

(d) 3Ny v, BeETE, T, faee wn
3R 7T wew



98. Which one of the following was not

a feature of the art of painting in India
in the 19th century?

(a) Art was being produced for the
open market.

(b) The artist (Shilpi) became distinct
from the artisan (Karigar).

(c) The technique of oil painting was
developed.

(d) The distinction between elite and
popular art widened.

99. As part of the Look/Act East Policy,

which one of the following capitals of
North-East Indian States is proposed
to be connected with Bangladesh via
rail route?

(a) Agartala
(b) Kohima
(c) Imphal
(d) Itanagar

100. Which ohe of the following is correct

in respect of the appointment of
District Judges?

(a) They are appointed by the
Chief Justice of the concerned
High Court.

() They are appointed by the
President of India on the advice of
the Chief Justice of the concerned
High Court.

(c) They are appointed by the Governor
in consultation with the High Court
of the concerned State.

(d) They are appointed by the Supreme
Court on the advice of the
concerned High Court.
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101. Consider the following historical events

in India carefully :

1. The Indian press failed to protest
against the Vernacular Press Act
of 1878.

2. The Vernacular Press Act of 1878
was introduced by Viceroy Lytton
against the counsel of his own Law
Member.

Which of the above is/are correct?
(@) 1 only

(b) 2 only

(c Both 1 and 2

(d) Neither 1 nor 2

102. Which of the following pairs of years and

historical events is correctly matched?

(@) 1878 . Second Anglo-Afghan War

(b) 1885 : Ilbert Bill Controversy
(c) 1785 : Fox’s India Bill
(d) 1898 : Lord Curzon becomes

the Viceroy

103. Which of the following sets of Indian

States are landlocked and do not have
an international boundary?

(a) Andhra Pradesh, Chhattisgarh,
Haryana, Jharkhand and Madhya
Pradesh

(b) Chhattisgarh, Haryana, Jharkhand,
Madhya Pradesh and Telangana

(c) Chhattisgarh, Haryana, Himachal
Pradesh, Madhya Pradesh and
Telangana

(d) Andhra Pradesh, Chhattisgarh,
Haryana, Himachal Pradesh and
Madhya Pradesh

[ P.T.O.



104, Frafafes <1 # ofim ¥ o R ¥ w9 & 106. G-I ® G-I & WY gafd it aix

Fafea HifT gl F 9w T g2 W w@n W wd Iwm
1. =W @ REAE
3. 9 (fEAw vER)  (enafie )
4, «mfEen A. TR 1. T@A
B. 'R 2. e
= 1 JI0T F HE N |
P R C. @t 3.
(@) 1-2-3-4 D. s 4.
(b)) 1-3-2-4 f T
al e By D
(@) 2-4-3~1 (b) A B i D
354 o9 N
g Ko B 0N
105. fr=fafed woAt § @ SA-1/39-3 a9 2/37 1 4 2 3
1. W uRd (Fwm), = g (3
Yeree) g T B @A B C D
g s oa

2. & A ™ HEErdE g )
3. T A T 9 a2 w ufed Bt R
107. H13 R-sifF foxir s = 7t =5t gt 27

i fow g e w1 T o I g
(@) FO
(@ Fad 1
(b) TRam &
(b) HaA 2 IR 3
(c) % A YR o
() Faw 1R 3
(d) @ & min smd (fewe fenifte) o
(d 1,23R3 3R A% I FET
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104. Arrange the following passes from West
to East direction :

15

;-
3.
4.

Bara Lacha La
Shipki La
Jelep La

Bomdi La

Select the correct answer using the
code given below.

(@)
(b)
(c)
(@)

1-2-3-4

1-3-0-4

2-3-4-1

2~4-3-1

105. Which of the following statements is/are

correct?

1. The jet streams are high altitude
easterly winds.

2. El Nifio is a warm ocean current.

3. El Nino appears along the Peru

coast.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 and 3 only

(c)

1 and 3 only

(a1, 2:and:3
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106. Match List-I with List-II and select the

correct answer using the code given
below the Lists :

List-1 List-II
(Type of plain) (Characteristic
feature)
A. Bhabar 1. Marsh
B. Bhangar 26 ot
C. Khadar 3. Gravels
D. Delta 4. Kankar
Code :
(@) A B C D
3 2 B 1
(b) A B C D
3 4 2 1
(c) A B & D
1 4 2 3
(d A B c D
1 2 4 3
107. A non-banking financial company
cannot
(a) give loans
(b) make investments
(c) borrow from bank
(d) seek demand deposits from public

and cannot issue cheques

[ P.T.O.



108. @i ffe wfufe 3 wra F dfum § f=fafaq

Syeyl § | f6E 39§y B i =
R hi?

(@) A& (WsR) =1 fagi
(b) W FdA

(c) @& BN T AA-wRAE G H
BILIECNE]

(d) A % TPAfd W HETHRRE =

109. fafraw & ww ufer & Fr=fefaa & @ fra =

iy foman St &7
(@) R-T TS
(b) TSR wfeEt
(c) dstma wiftt
(d) H S

110. Sito THo fo &1 2?7

(@) A~ ITHT o

(b) ITH-IUIG IR

(c) WA W T -nenia foehl =
(d) T A W ITM-3eiE o

111, THNE 9§ 2020-21 N vgeh fomd A

Sflo o o # 23.9 yfawrd A Fft 3w @l
fordt 4 7.5 wfem A+ g€ ol
wagu, 202021 ¥ W feEl @
(Trerart) e Srgek wwe TT?

(@) U-3THR (39)
(b) V-SHR (I9)
() K-3TTHR ()
(d) W-3THR (9)
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112. TWHo Elo Sfto (¥ad fasm @) fear seaa &

THTE (TRIT) % eR | AN smEm 3
fafir Tl 1 wfeaa AfwT § arffa fen &)
Frafafad & @ ®9-d, 3@ ¥ w Ao 7@
’?

() Seigh (TguTde)
(b) TTHH

(c) TR T

(d) =R

113. ¥4 ¥ Rl it it yug 9 % gada i @

SRR R 1 4G ST 87

(@) TETferER % TS 9 T danR
(b) aAHEA

(c) TS TMaTA

(d) SEEF NG TEEEH

114. 3 ¥ o9 fowsw & SR § ufyg mam

f 37T HrES ST e 1 TG 7
(@) g sfiqH

(b) Seht gerfern

(c) W3TEd &6 Hal

(d) W FE



108. The Swaran Singh Committee 112. Based on the scoring on SDG

recommended the insertion of which (Sustainable Development Goals) India
one of the following provisions into Index, the NITI Aayog has classified
the Constitution of India? various States into certain categories.

Which one of the following is not one

Doctri f Pl
(9 fgctrne, of Fleasyre of the categories?

(b) Fundamental Duties

(¢) Nomination of Anglo-Indian (a) Aspirants
Members to the Lok Sabha

(d) Impeachment of the President of 5} - Resanms

India
(c) Fast runners

109. The proceeds from disinvestment are

included as (d) Achievers

(a) non-tax revenue
(b) revenue receipts 113. Who among the following is credited with
(c) capital receipts the introduction and popularization of

@ Dhrupad form of music?
tax revenue

(a) Raja Man Singh Tomar of Gwalior
110. GST is a/an

{a) destination-based consumption tax (b) Tansen

(b) origin-based production tax (0). - Natle Gopad
(c) destination-based sales tax on

transaction (d) Shaikh Bahauddin of Barnawa

(d) origin-based tax on sales
transaction

114. Who among the following is the author

111.:In. the first quarter of fiscal year of the famous partition narrative,
2020-21, GDP contracted by 239 The Other Side of Silence ?

percent and in the second quarter,

by 7-5 percent. The Economic Survey,

3 (a) Amrita Pritam
2020-21 preferred to call it a recovery in

(@) U-shape (b) Urvashi Butalia

(b) V-shape

i (c) Saadat Hasan Manto
c -shape

(d) W-shape (d) Manju Kapur
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115, =% & o Yo@ wush (o) =l & 91 &

118. G-I N GA-II F |y gafea AR oM

g Frfafea T qeadi wed & | fegw it % R R gz 1 W@ W 9@ sWw
wEw w8 T EIEL
g -1 -1
(b) FEAR (8 =e1teR) (gEaTea)
() T A. ™ 1. wHe™
@ B. #o 3Eo THo 2. famm
(&8 iq{o 3. fir=
116. IR WA SFOET 1 YUH YIE Fe R D. i 4‘ i
e
% ¢
(@) 1871
o) K- B %8 D
(b) 1872 4 '3
(c) 1881 PTG
(d) 1861 8% Yiotano k

117. ¥RA A 99 Yol & Hay # Frefafaa wet R g
forem $ifére
1. a4 == oiR 25 B WY T ) (d) fz\ 1: ? E
2. U, Wq REe 3 Semrl w6
weEE FrE % | w2 yea e
gl
3. wiftm T wg /e wEt ¥ 119. 9w ¥R 6 791 yar el yersis wiEa
i ¥ e B T e ) TR T el <l S 87
I FHeE H ¥ PH-A1/FH-0 FE /7 (a) TEYS &
, 2 3R
(Ve i (b) HTE &
(b) I 3
() Faw 132 fe) T VR S
(d) Fa@ 2 3R 3 (d) |aF &
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115. Which one of the following cities on 118. Match List-1 with List-II and select the

the banks of Ganges declined in correct answer using the code given
importance when the railway link to below the Lists :
Bombay started operating?
: List-I List-IT
(@) Benaras (Regional block) (Headquarters)
(b) Kanpur A. ASEAN 1. Brussels
(c) Mirzapur B. CIS 2. Vienna
(d) Patna C. EU 3. Minsk
D. OPEC 4. Jakarta
116. When was the first All India Census
attempted?
(@) 1871 Code :
(b) 1872
(c) . 1881 (@) A B C D
Bl 3 1 2
(d 1861
(b) A B C D
117. Consider the following statements about 4 1 3 2
the seaports in India : :
1. There are 4 major and 25 minor (¢ A B B B
seaports in India. 2 1 3 4

2. The major ports are under the
administrative control of the
Ministry of Ports, Shipping and
Waterways.

oA 28 P D
3

3. The minor ports are under the
jurisdiction of respective State 119. Solifluction is a geomorphic process
Maritime Board/State Government. involving a special type of soil flow that

is noticed in
Which of the statements given above
is/are correct? (a) desert regions
@ 1,2 and 3

(b) 3 only

(c) 1 and 2 only

(b) karst regions
(c) permafrost regions

(d) 2 and 3 only (d) savanna regions
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120. F=faflas # & $9-H® Pafs FemEfy, 123. fr=feRad oAl 9 @ F9-w1/39-8 wd 3/37

A % gorm wigHia & deg &7 1. 1581 onREM-vRd R wiem
B AE 2022 A WE (IPAA) w9 W
ol sfsa f3ram e
(b) I forew@ 2. iR g9 (PR gFea) Tra &1 ged
) it =21 81T AR 9rfier R
o 9 fow 1T e w1 T W g s R
(@ Faa 1
121. €9 FeF @A (Fo Ao o) F @R #, (b) S 2
Frafafaa woAl § & S9-w/a0-8 ad /87 (€ 1323
@ 4 )
2. o Mo Mo IF gl (IR F=m) 124. TEE AFE AHR FE0T & dwg JR gew
et &t & O §2M H FHE w2l #H geraty Tt 77
H R T g2 W W W wd I gh (@) 5= = 70 T H Y TF
(@) ¥ 1 (b) 3= 70 T H 3Y TF
(b) Fad 2 (c) 59965 TH I MY TH
oLt (d) 3T A 65 T4 HI Y TF

il st 125, Frefien T % W {2 B2 A v

* U 87
122. fr=faflaa & @ Fa-wr 2w, 90 =il @iy (@) SR, qZH, AT, WE 3 AT
e (1) 1w A 27 . :
() FFARE, SEH, W, NRd, i,
(@ T JrEeie 3N =R
(b) e (c) wTERE, Y, AqTd, WRd, #few iR
qredia
(c) SATEH _ :
(d) AFARY, SEH, AU, ¥R, WER,
(d) TH sficier 3 g2
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120. Which one of the following geologic time 123. Which of the following statements is/are
periods is associated with the first correct?

Apgeazance of e marepp Al 1. The 15th ASEAN-India Summit was

(a) Lower Cretaceous held virtually in March 2022.

(b) Upper Cretaceous 2. European Union is India’s largest
regional trading partner.
(c) Early Jurassic
Select the correct answer using the code

(d) Middle Jurassic given below.

121. Which of the following statements about (@) 1 only
the Border Roads Organization (BRO)
is/are correct? (b -3 ooy
1. BRO is concerned with the (c) Both 1 and 2

construction and maintenance of

: . s (d) Neither 1 nor 2
roads in strategically sensitive

areas.
2. BRO undertakes snow clearance in 124. What is the term of office of the
high altitude areas. Chairperson and Members of the

National Human Rights Commission?

Select the correct answer using the code

j bel. (a) S years or up to 70 years of age
given below.
(b) 3 years or up to 70 years of age

(a) 1 only (c) S years or up to 65 years of age

(b) 2 only (d) 3 years or up to 65 years of age

() Both 1 and 2

(d) Neither 1 nor 2 125. Which of the following sets of nations are
members of the BIMSTEC Initiative?
122. Which among the following countries is (@) Bangladesh, Bhutan, Nepal, India
not a member of the North Atlantic and Sri Lanka

Tiwaty Crginiestion: (galye (b) Bangladesh, Bhutan, Nepal, India,

(a) Hungary Sri Lanka, Thailand and Myanmar

(b) Poland (c) Bangladesh, Bhutan, Nepal, India,
Sri Lanka and Maldives
(c) Belarus
(d) Bangladesh, Bhutan, Nepal, India,
(d) Turkey Myanmar, Sri Lanka and Indonesia
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